Notations in Annexes:-

Notation used in the thesis

Notation used in equation solver
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Annexure

Annex 3.1

Equation ((2%a-s*tA2-rtA2)*(-25s*t-2°r1)/9"b)+ 2% ((a-2*S A 2+r*tA2)"(-

4*s*t+2"r*t))/9*b=0 solved for t

salution 1

t=-{zy 22

3g-2rstr?

Edit expression
solution 2

t = sqrt(2)*sqrt(a*s/(3's"2-2"r*s+r"2))
t=N7y s

3s2-2rs+r2

Edit expression
solution 3
t=0
t=0
Edit expression

Direct link to this page
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Annex 3.2

Equation (((a-2"r*tA2+s*t12)*2)/9*K)-3*((2*a*r'tA2-rA2*t*4)/8*b)=0 solved for t
solution 1
t = -sqrt(37(3/2)*a*sqrt(-16*b*k*I*s+24*b*K*rA 2+27*bA2*r*2)/(8*k*s A 2-
327K r*s+32*k*rr 2+27*b*rr 2)-8*a*k*s/(8*k*s  2-32*K*r*s+32*k*rA 2+27*b*rr 2)+16*a*k*r/(8*k*s 2-
32°K*r*s+32*k*r* 2+27*b*r* 2)+27*a*b*r/(8*k*s A 2-32*k*r*s+32*k*r* 2+27*b*r* 2))

p= =V 1% o\ BBk ST BK T FT _ Baks N 16akr . Tabr
8k F-32krs+32kr+27 br2 8k s2-32krs+32kr+27 br2 8ks2-32 krs+32 kr+2i br2 8k $-32krs+32kr2+27br2
Edit expression
solution 2

t = sqrt(34(3/2)*a*sqrt(-16*b*k*r*s+24*b*k*rA 2+27*bA2*r* 2)/(8*k*s 4 2-32°k* r* s +32°K*r* 2+27*b*rA2)
-8 a*k*s/(8*k*s A 2-32* K r*s+32*°k*rr 2+27*b*r  2)+16*a*K*r/(8*k*s A 2-32° K r* s +32*k*r* 2+27*b*r*2)
+27*a*b*r/(8*k*s"2-32*k*r*s+32°k*r" 2+27*b*r"2))

j= 3% al Tobkrsv bk ATE R _ Baks N 18akr . 2Tabr
8k $-32krs+32kr2+27 br2 8k s2-32krs+32kr2+27 br2 8ks2-32krs+32kr2+21br2 8k $-32krs+32kr2+27br2
Edit expression
solution 3

t = -sqrt(-37(3/2) a*sqrt(-16"b*k*r*s+24*b*k*rA2+27*bA2*TA2)/(8*Kk*s A 2-
32¢k*r*s+32° K rA2+27*b 17 2)-8*a*K s/(8*K*s 7 2-32*k* "5+ 32°K T 2+ 27*b*r 2) +16*a*k*r/(8*k*s A2-
324k r*s+32°K T2+ 27*b 1 2)+ 27 2 b rI(8*K*s A 2-32*k**s +32°K*TA 2+ 2T*b*r2))

solution 4
t = sqrt(-37(3/2)*a*sqrt(-16*b*K*r*s+ 24Dk rA 2+ 270 A 2*rA2)/(8*K*s A 2-
32*°K*r*s+32*°K*rA2+27*b*r*2)-8*a*k*s/(8*k*s 4 2-32*k*r* s +32*k*r* 2+27*b*r*2)+16*a*k*r/(8*k*s* 2-
32°K*r*s+32*K*rA 2+27*b*r*2)+27*a*b*r/(8*k*s A 2-32°K* r*s+32*K*rA 2+27*b*r*2))
I=Vl _32 aV\ TIB bkrs+24 bk r+2T 12 _ 8aks + 16akr I 2abr
Bk&-32krsti2kr+2T hr2 Bks-32krst2kri+27 bhr2 Bks-32 krs+32 kr+2Thr2 Bks-32krst32kr+27bhr2

Edit expression

Direct link to this page
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Annex 4.1

Equation ((2*a-s*t"2-r"tA2)*(-2*s*t-2"r*t)/9*b)+2*(((a-2*s*t" 24r*t" 2)*(-4*s*t+2°r"1))/9*D)
+(2'm*tH(2*a-s*t" 2-r't* 2)/3*b)+((m*t2-d)*(-(2*s*t+2*r*t))/3*b)=0 solved for t
solution 1
t = -sqri(-d*s/(3*s12-2"r*s-2* m*s+rA2-2*m*r)+2*a*s/(3*57 2-2r*s-2*m*s+r"2-2*m*r)-

d*r/(3*s42-2*r*s-2* m*s+rA2-2m*r)-2*a*m/(3*s 1 2-2°1*s-2* m*s+r"2-2"m*r))
t= _V‘ - 3-2rs-2 g]SSHLE mr 382 rsf22ﬁ:ss+r2f2 mr - 32152 g:{sHLQ mr - 3g-2 rsf22; ’:HLZ mr

Edit expression
solution 2
t = sqrt(-d*s/(3*s*2-2r*s-2*m*s+r"2-2*m*r)+2*a*s/(3*s A 2-2°r* s-2* m*s+rA 2-2°m*r)-d*r/
(3*872-2°r*s-2"m*s+rA2-2*m*r)-2*a* m/(3*s A 2-2°r*s-2*m*s+r2-2"m*r))
f= \j _ ds 2as dr 2am

3s-2rs-2mstr2-2mr I$-2rs-2ms+E-2mr 3&-2rs-2ms+E-2mr 3$-2rs-2mstr-2mr

Edit expression
soltion 3
t=0
t=0
Edit expression

Direct link to this page

126



Annex 4.2

Equation 2*(a-2*r*t"2+s*tA2)*(2*s*t-4*r*t)/9*b-3*(a-r't*2)*r*t/2*b-r*t*(m*t*2-d)/b-r*t* 2*
(m*t)/b=0 solved for t
solution 1
t = -sqrt(-8*a*b*2*s/(8*b"2*s~2-32*b A 2*r*s+59*b A 2*r * 2-36*m*r)-18*d*r/(8*b* 2*s * 2-
32*b*2*r*s+59*b*2*r*2-36*m*r)+43*a*b*2*r/(8*b " 2*s A 2-32*b* 2*r*s+59*b A 2*r A 2-
36*m*r))

t=-— 8alks 18dr 43abr

- - +
8P 2-32 Frs+59 Fr2-36mr SF £-32Frs+50 P r2-36mr S S-32F rs+59 Fr2-36mr
Edit expression
solution 2
t = sqrt(-8*a*b"2*s/(8*bN2*s12-32*b A 2*r*s+59*bA2*rA 2-36*m*r)-18*d*r/(8*b A 2*s A 2-
32*bA2*r*s+59*b " 2*r* 2-36*m*r)+43*a*b A 2*r/(8*b " 2*s A 2-32*b A 2*r*s+59*b A 2*r* 2-
36*m*r))
t=+ - Bals - 18dr + 43albfr
S S-32F rs+59 Fr2-36mr S #-32Frs+59Fr2-386mr S -32F rs+59 Fr2-36mr
Edit expression
solution 3

t=0
t=0

Edit expression
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Annex 4.3

Equation 24(a-2*r*tA2+5*tA2)*(2*s*t-4**)/9*b-3* (a-rtA 2) r*t/2*b--r*t*(m*tA 2-d ) lb-r*tA 24 (m*t)/b+(m*tA 2-d)*
(2*s*t-4*r*t)/3*b+2* (M*t)*(a-2*r*tA2+s*tA2)/3*b=0 solved for t
solution 1
t = -sqri(12*b*2*d*s/(8*s*2-32*r*s+24*m*s+59*r* 2-48*m*r)-8*a*b 2*s/(8*s * 2-32*r*s+24*m*s+59*r" 2-
48*m*r)-24*b 2" d*r/(8*s42-32*r*s+24*m*s+59*r2 2-48*m*r)+18*d*r/(8*s A 2-32*r*s+24*m*s+59*r* 2-48*m*r)
+43*a*bA2*r/(8*sA2-32*r*s+24*m*s+59°rA 2-48* m*r)-12*a*bA 2*m/(8*s A 2-32*r* s+24*"m*s+59*rA 2-48*m*r))/b

J— 12H8ds _ - fatfs _ - 24 Fdr _ e 18 dr _ — 435 P r _ - 12a8m _
__  8imredamsssaridinr 8sT02rssd4messorTaimr 85002rs24no0rd0mr 857-2reddmessarlBnr 8202 ras2imessorTaBmr 8702 reid4m 50 40 mr
t= b
Edit expression
solution 2

t = sqrt(12*bA2*d*s/(8*s*2-32°r*s+24*m*s+59*r* 2-48*m*r)-8*a*b A 2*s/(8*s * 2-32*r*s+24*m*s+59*r" 2-
48*m*r)-24*b A 2*d*r/(8*s A 2-32*r*s+24* m*s+59*r*2-48*m*r)+18*d*r/(8*s" 2-32*r*s+24*m*s+59*r* 2-48*m*r)
+43*a*b 2*r/(8*s A 2-32*r*s+24* m*s+59*r* 2-48*m*r)-12*a*b " 2*m/(8*s " 2-32*r*s +24*m*s+59*r* 2-48*m*r))/b

128ds _ 8atls _ 24 Fdr ¥ 18dr + 43aPr _ 1258m
8o2-32re+24 me+BOr2-48mr  B52-32ros24m eSO r2-48mr 8 s2-32reséme+89r2-a8mr 8 o2-22rs+24me+BSr2-48mr 8 £-32re+24me+S9r2-43 mr 8232 re+dm e+59r2-43mr
b
Edit expression
solution 3

t=0

N

t=
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Annex 4.4

Equation ((2a-8*tA2-r*tA2)*(-2sH-2°1")/9%D)+2¢(((a-2*8*tA 2+ 1A Q) (-4*s*t+ 2°1*1))19%b)
(2P MPtH(24a- 1A 2-rtA2)13+D) +{(M*tA2-d) (-(2*5*+ 2°r*1))I3*D)=0 solved for t

solution 1

t = -sqri(-d*s/(3*s*2-2*r*s-2*m*s+r*2-2*m*r)+2*a*s/(3*s* 2-2*r*s-2*m*s+r* 2-2*m*r)-
d*rf(3*s*2-2*r*s-2*"m*s+r2-2*m*r)-2*a*m/(3*s 4 2-2°r*s-2*m*s+r* 2-2*m*r))

- s + 2as - dr - 2am
382-2rs-2ms+2-2mr 3s:-2rs-2mstr-2mr 38-2rs-2mstr2-2mr 3$-2rs-2ms+r:-2mr

t==

Edit expression
solution 2

t = sqrt(-d*s/(3*s*2-2 r*s-2* m*s+r* 2-2"m*r)+2*a*s/(3*s A 2-2r* -2 m*s+r* 2-2*m*r)-d*r/
(3*8"2-2"r*s-2" m*s+r*2-2*m*r)-2*a* m/(3*s* 2-2*r*s-2*m*s+r" 2-2"m*r))
f=+ - ds + 2as - dar - 2am
3F-2rs-2mstr-2mr 3s-2rs-2ms+i-2mr 3-2rs-2ms+-2mr 3F-2rs-2mstri-2mr

Edit expression
solution 3
t=0
t=0
Edit expression
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